
Announcements
-

- No quiz this weekend

- Reply to myemail with your mock exam
and asanswer key . (No later than Monday)

Also specify if you would
like me to match you . C

-I will do the matching
on Tuesday)

• Next week IRRR) my section times ft-3pPff
will be converted to a

.

H
.

The usual o .H.

will still take place
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y = Area we want
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#2) Analogy : g-fun

f- fix-3) moves to right
by3-T.e.in the

positive
x -direction.

r -- fla) Kew)

r -- fla -9/3 )
"

mounding in positdon
( rotating ) by

" b "

#This is not just areparametrizatisn :
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#4) ii. it is a scalar and is 0 when

it
,
I perpendicular .



#5)

is
:*

¢ (None of the above)

.

#6) c

¥13 We agree that
A HIBXAIJI gives area

of
.

But actually ,

so does IAB x ATI for example .
1) can see this geometrically or
21 verify algebraically : = O

-

IAI x IAI + DT ) ) -- LABIA'D t AB x DT I



(All three answer choices work )

You can definitely do 7.8 just by setting up systems
of equations and trying to solve , but here

#y )
are conceptual ways of approaching them:

HI b/c 4,1, -D is not perpendicular
to 12,1, 3) (check w/

dot. product )

#s)
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